Annex A

Results on repeated load triaxial testing with different binders

1.1 Results unbound material

Three samples of unbound material were tested, one of which were discarded. See Figure
1 for results on sample 1 and Figure 2 for sample 10.
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Figure 2: Sample 10

1.2 Results bitumen 70/100

Results from the testing are shown in Figure 3 for sample 05 and Figure 4 for sample 06.
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Figure 3: Sample 05.
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Figure 4: Sample 06.
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1.3 Results bitumen 160/220

A more viscous bitumen than 70/100. The results can be seen in Figure 5 and Figure 6,

for sample 03 and 07.
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Figure 6: Sample 07.

1.4 Results Dustex (lignosulphonate)

The results of the tests stabilized with Dustex are shown

sample 08 and 09.
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1.5 Results ZycoBond (organosilanes)
Figure 9 and Figure 10 show the results from stabilizing with ZycoBond for sample 11
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Figure 9: Sample 11.
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Figure 10: Sample 13.

1.6 Results Elastotrack 1.5% (polyurethane)

Figure 11 and Figure 12 shows the results from testing with 1.5% Elastotrack for sample

14 and 15.
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Figure 11: Sample 14.
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Figure 12: Sample 15.
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1.7 Results Elastotrack 2% (polyurethane)

Figure 13 and Figure 14 shows the result of testing with 2% Elastotrack for sample 17
and 18.
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Figure 14: Sample 18.



